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1a. A. 9cm B. 5¢m

2a. 2cm
3a. False, it is 8cm long.
4a. Calculator = 2cm, Book = 5cm

1b. A. It is 2cm long whereas the others
are 3cm long.

2b. Marfin. He has accurately read the
measurement shown by the ruler.

3b. Various possible answers, for example:
7cm, 8cmor 9cm.
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5a. A. 8cm B. 5¢m

éa. 7cm

7a. False, it is 7cm long.

8a. A=8cm,B=5cm, C=7cm

4b. A. It is 7cm long, whereas the others

are écm long.
5b. Niall. He has taken into account that

the object is measured from 3cm and not

Ocm.
éb. Various possible answers, for example:

10cm, 11ecm, 12cm and 13cm.
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9a. A. 9cm B, 5¢m

10a. 7em

11a. False, itis 7Zcm long.

120. A= 5cm,B=3cm, C=7cm

7b. B. It is 8cm long, whereas the others
are 4cm long.

8b. Isabel. She has taken into account
that the objectis measured from 2cm and
not Ocm.

9b. Various possible answers, for example:
7cm, %cm, 1lecmand 13cm.




